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QUESTION 1

What is the default Quality of Service traffic class used by the ERX Edge Router?
A. bronze forwarding

B. assured forwarding

C. expedited forwarding

D. best effort forwarding

Correct Answer: D

QUESTION 2

Which three statements are correct concerning the CLI commands shown below? (Choose three.) aaa domain ispl.com
tunnel 1 address 33.33.33.1

A. Tunnel 1 is the tunnel identity.

B. The address is the LNS loopback.

C. The address is the LAC loopback.

D. These commands are performed on the LAC.

E. Tunnel 1 is the first tunnel instance for domain ispl.com.

Correct Answer: BDE

QUESTION 3

Router A has a priority of 64, Router B has a priority of 0, and Router C has a priority of 70. Router D now comes online
with a priority of 100. Which router is the DIS?

A. Router A
B. Router B
C. Router C
D. Router D

Correct Answer: D

QUESTION 4

Which two configuration commands are required to direct debug level console logging to your current ERX Edge Router
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Telnet session? (Choose two.)

A. log here

B. log telnet here

C. log destination console severity 7
D. log destination telnet severity debug

Correct Answer: AC

QUESTION 5

What are two purposes of the RSVP signaling protocol when configuring MPLS Label-Switched Paths (LSPs)? (Choose
two.)

A. to perform a label push operation

B. to track the status of signaled LSPs

C. to perform longest-match route lookups

D. to reserve resources, such as labels and path information

Correct Answer: BD
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